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1 How did the expansion of Indian railway cause to the  decline of Indian textile industry?

2 Analyse the reasons for the decline of the textile industry and complete the Diagram below?

3  What was the  results of the decline of  indian textile industry in nineteenth century?

4 Complete the table of village industries which are ruined under British rule and Find out the reason?

Village Industries Cause of decline

5  What were the different modern industries started in India in nineteenth century by the British 

 industrialists?

 Jute

  

  

  

Lesson & LO :British Exploitation and Resistence-Decline of Indian Industries, Revolt of 1857 .

Expansion of 
Railway

Export of 
Raw  Materials

DECLINE OF TEXTILE INDUSTRY

https://www.youtube.com/watch?v=mO7IhQRwKLw&t=423s


 6 Write a short note about the rise of modern industries which changed the plight of Indian workers

7 Prepare a short note about the causes of the Revolt of 1857 based on the hints below.

 Miseries of farmers       

 Dissatisfaction of kings

 Poverty of the craftsmen

 Miseries of the sepoys  

                         

8 Complete the Table

Centres of Revolt Leaders

● DELHI ●

●

● RANI LAKSHMI BHAI

● LUCKNOW ●

● KANPUR ●

● FAIZABAD
●

JANSY RAN I Click here

Click Here
Bahadur Shah II Thanthia Thoppi

https://www.youtube.com/watch?v=utJTtFc_KHU&t=20s
https://www.youtube.com/watch?v=ataW-bloIEY&t=189s


 

9 What are the results of 1857 revolt?

NANA SAHEB

William Bentinck

https://en.wikipedia.org/wiki/Lord_William_Bentinck
https://en.wikipedia.org/wiki/Lord_William_Bentinck

